What is the Percent? (F)

What percent of the second number is the first number?

1357 out of 5900 2150 out of 4300 2275 out of 6500

6424 out of 8800

2304 out of 7200

27790 out of 9300

32 out of 400

3744 out of 7800

6216 out of 8400

672 out of 5600

658 out of 9400

871 out of 6700

819 out of 900

2200 out of 5500

2849 out of 3700

4100 out of 5000

972 out of 1800

616 out of 800

3216 out of 4800

4020 out of 6000

140 out of 1000

3172 out of 5200

1230 out of 8200

6480 out of 7200

2300 out of 9200

528 out of 3300

7008 out of 7300

5904 out of 7200

4489 out of 6700

73477 out of 7900

2880 out of 6400

3740 out of 6800

1690 out of 2600

1224 out of 3400

1025 out of 2500

182 out of 1400

3015 out of 6700

5092 out of 7600

3600 out of 5000

195 out of 1500
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What 1s the Percent? (F) Answers

What percent of the second number is the first number?

1357 out of 5900
=23%

6424 out of 8800
=73%

2304 out of 7200
=32%

27790 out of 9300
=30%

32 out of 400
= 8%

3744 out of 7800
= 48%

6216 out of 8400
=T74%

672 out of 5600
=12%

658 out of 9400
=T7%

871 out of 6700
=13%

2150 out of 4300
= 50%

819 out of 900
=91%

2200 out of 5500
= 40%

2849 out of 3700
=T77%

4100 out of 5000
= 82%

972 out of 1800
= 54%

616 out of 800
=T77%

3216 out of 4800
=67%

4020 out of 6000
=67%

140 out of 1000
= 14%

2275 out of 6500
=35%

3172 out of 5200
=61%

1230 out of 8200
=15%

6480 out of 7200
=90%

2300 out of 9200
=25%

528 out of 3300
=16%

7008 out of 7300
=96%

5904 out of 7200
= 82%

4489 out of 6700
=67%

73477 out of 7900
=93%

2880 out of 6400
=45%

3740 out of 6800
=55%

1690 out of 2600
=65%

1224 out of 3400
=36%

1025 out of 2500
=41%

182 out of 1400
=13%

3015 out of 6700
=45%

5092 out of 7600
=67%

3600 out of 5000
=72%

195 out of 1500
=13%
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